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Set0l Answers for No.9182

areal = {12} (4 A B)=2  n(4 U B)=6
dnsl=| 1= ai22“32:{{25’6109}} 22| n(A-B)=1 n(U—-(4 U B))=6
| lareas=(1,3,4,7,8,113) -nB-A=3 Math@MUT ] |
areal = {10, 15} (4 A B)=2  n(4 U B)=9
Ans2=| 1= area?ria{24f6{,27’,58}, 13y p2=| nA-B)=2 a(U-(4 U B))=5
| laread= 13,9, 11,12,14) LB -A=35 Math@MUT ] |
i [ areal = { } i i
area? = {15} n(intersect(4, B, C))=0 n(4-B)=3
area3 ={2,5,8,9} n(union(4, B, C)) = 10 n(B-4)=5
3| po| @read=1{7.10.14} | n(4d N B)=1 n(C N (4u B))=4
area’ = { } i n(B N C)=1 n(C v (4 nB))=6
area6b = {11} n4 v C)=6 n(intersect(4, B, C)'): 15
area7 = {3} n(B u C)=10 Math@MUT
L Larea8 = {1,4,6,12, 13} ]
4 v B=1{4,5"1,38,13,14} [ 1=(4 N B={area2}) )
/ 4 N B=1{14} 2=(A-B={areal })
A U B={3,5061891011,12, 14} 3=((A-B)n (B-A)={})
Bn A= {4,7,13} 4= (A’= {area3, areab, area7, areas })
Ansd = A-B={5,8} . Ans5 = S=(C v (A4 n B)={area2, area4, area’, areab, area?7})
B -A= {3,6,9,10,11,12} 6=((4 v C) n (B v C)={area2, aread, areas, areab, area7 })
(4 U B)=1{3,6,9,10,11,12} 7=((B-4) N (B-C)={area3})
4 A B'={3,691011,12} 8=(A - B = {area3, areat })
L(A—B) =1{3,4,6,7,9,10, 11,12, 13, 14} L 9=((4-B) - C= {area2, area3, area8 }) J
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Set0l Answers for No.9225

areal = {4, 11}

area2= {10, 13} n(dnB)=2 n(d4duUB)=7

Ansl =| .1 = ,.2=| n(4-B)=2 n(U-(4 U B))=5
area3 = {3,8,12} _
aread = {5,6,7,9, 14} n(B-4)=3 Math@MUT
areal = {2’24’,1{1’}12’ 16} n(d nB)=0 n(4uU B)=9
Ans2 =| 1= aredzs = 2= n(4-B)=5 n(U-(4 U B))=6

area3 =1{3,5,7,14}

aread = {6,8,9, 10, 13, 15} n(B-A)=4 Math@MuT
[ areal = {2,9,11} i i
area? = {6,17} n(intersect(4, B, C)) =1 n(4d-B)=4
area3 ={ } n(union(4, B, C)) =11 n(B-4)=1
ns3=| 1= aread = {7} . n(4d N B)=3 n(C N (4uvB))=3
' areas = {4} . n(BnN C)=2 n(C U (4N B))=38
area6 = {15} n(4d v C)=11 n(intersect(4, B, C)) = 16
area7 = {3,5, 14} n(Bu C)=8 Math@MUT
L Larea8 = {1, 8,10, 12, 13,16} | J
A v B={1,3,517,8,9,10} [ 1=(4 N B={area2}) 1
o A0 B=1{3,910} 2=(B ~A4'={areal })
4 v B=1L2, 3”4’ 6,9,10,11, 12, 13} 3=((4 n B)'= {areal, area3, area4})
B nA4={5728} 4=(B v C={area2, area3, area4, area’, areab, area7 })
Ans4 = A-B={1} , AnsS = S=(B n (4 v C)={area2, areas, areab})
B —dA= {2,4,6,11,12,13} 6=((4 N B) U (B n C)={area2, areas, areab})
(4 v B)': {2,4,6,11,12,13} 7=((4-B) U (A-C)={areal, area2, area4})
A~ B= {2,4,6,11,12,13} 8= (A' U B'= {areal, area3, aread, areab, area7, area8 })
_(A—B)':{Z, 3,4,5,6,7,8,9,10, 11,12, 13} | L .9:((C—B)'—A:{area3, areab, area8 }) i
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Set0l Answers for No.9243

“rer“;_{{l’gs}} nd N B)y=1 n(duB)=7
Ansl =| 1= are;e_“{(;z 6.0y (27| MA-B)=2 n(U-(4 L B))=4
aread— 13,4710} n(B-A)=4 Math@MUT
“;‘i“f;fo}“} n(d N B)=3  n(4uU B)=6
Ans2=| .1 = areas=1%1% 2= n(4-B)=0 n(U-(4 U B))=8

area3=1{1,2,7}

aread = {3,4,5,6,9, 12, 13, 14} n(B-4)=3 Math@MUT
[ areal = {9, 10} ] )
area? = { 14,16} n(intersect(4, B, C)) =1 n(4d-B)=2
area3 = {3,12,15} n(union(4, B, C)) =11 n(B-4)=4
ns3=| 17— aread ={ } P n(4d N B)=3 n(C N (4 v B))=2
' area5= {11} o n(B N C)=2 n(C v (4N B)=6
areab = {8} n(4d v C)=8 n(intersect(4, B, C)) =16
area7 ={2,7} n(Bu C)=9 Math@MUT
L Larea8 = {0, 1,4,5,6, 13} i
[ 4 U B=1{4,5,7,8,9,10,11,12,14,15} | i I=(4 A B={area2}) 7
' 4N B={4,515} 2=(A4-B'={area2})
4V B=1{45,67,10,11,13,14,15,16} 3=((A-B) U (B-A)={areal,area3})
B A=1{809,12} A4=(4 n C={aread, area5})
Ans4 = A-B=1{7,10,11, 14} , AnsS = S=(A4 n (B v C)={area2, aread, area’})
B-A= {6,13,16} 6=((4 N B) U (4 n C)={areal, area4, areal })
4 v B),: {6,13,16} 7=((C-4) v (C-B)={aread, areab, area7 })
A N B = {6,13,16} 8= (B’ U C= {areal, area2, area3, area4, area7, area8})
L (4-B)=1{4,5,6,8,9,12,13,15,16} | L 9=(B N (4-C) = {area3, areas, areat } ) ]
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Set0l Answers for No.9298

“”25{29{71}1 (4 A~ B)=2  n(4 U B)=6
Ansl =| .1= a;’erzgl:‘{i’ " 13}} 2= n(4-B)=1 n(U-(4 U B))=6
| lareas=1{5,6,10,12, 14,153 ~ -MB-A)=3 Math@MUT |
areal = {3, 13} (4 A B)=1  n(4 U B)=7
Ans2=| .1 = area2 = {7} L 2=| n(4-B)=2 n(U-(4 U B))=7
area3 ={11,12,14,16}
| lareas=1(4,5,6,8,9, 10,15} -nB-A)=4 Math@MUT |
[ areal = {6, 8} l i
area? ={9,16} n(intersect(4, B, C))=0 n(4d-B)=2
area3 = {12, 14,17, 18} n(union(4, B, C))=13 n(B-4)=4
dns3=| 1= aread = { } . n(4 N B)=2 n(C N (4 v B))=0
' area5=1{ } . n(B N C)=0 n(Cu (4 n B)=7
areab = { } n(4d v C)=9 n(intersect(4, B, C)) = 16
area7 = {5,10,11, 13,15} n(B v C)=11 Math@MUT
L area8=1{4,7,19} ] ]
4V B=1{4,5,6,7,8,9,10,12,14,15,16} [ .1 =(A v B={areal, area2, area3 })
o AN B=112] 2=(B~4'= {area2})
4 v B={4, 63 7,9,11,12, 13, 14, 15§ 3=((4 n B)'= {areal, area3, area4})
B nA4={5281016} 4=(A n C={aread, area’})
Ans4 = A-B=1{4,6,7,9,14,15} , AnsS = S=(4 v (B n C)={areal, areal, aread, areal, area6 })
B—4= {11, 13} 6=((4 v B) n (4 v C)={areal, areal, aread, area’, area6 })
(4 v B)': {11,13} 7=((C-4) v (C-B)={aread, areab, area7 })
A~ B=1{11,13} 8=(A4 ~ B'={area7,area8})
L (A—B)':{S, 8,10,11,12,13,16} ] L 9=(B N (C—A)':{areaZ, area3, areal }) J
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Set0l Answers for No.9329

areal = {9, 10,12, 14}

wead— | | n(4d N B)=0  n(4 U B)=7
dnsl=| 0=l e s 11y p2=| nA-B)=4 (U= (4 U B))=s
aread = {3,4,5,7, 13} n(B-4)=3 Math@MUT
areal = {3,10, 11} nA ~ B)=3 n(A U B)=S8
Ans2=| 1= ”ri‘za:j{_if%l}” ,.2=| n(4-B)=3 n(U-(4 U B))=1
aread = {5,7,9,12, 14,15, 16} n(B-4)=2 Math@MUT
[ [ areal =1{2,11,13,16,17} | T
area? ={7,19} n(intersect(A4, B, C)) =0 n(4d-B)=35
area3 ={ } n(union(4, B, C))=13 n(B-4)=1
P aread = { } 5. n(d N B)=2 n(C A (4 U B))=1
' area5=1{} - n(B N C)=1 n(C U (4N B)=38
areab = {1} n(d4d v C)=13 n(intersect(4, B, C) )= 19
area7 =1{3,4,5,12,18} n(Bu C)=8 Math@MUT
L Larea8 = {6,8,9, 10, 14, 15} | ]

4V B={1,45,6,7,810,11} [ 1=(A v B={areal, area2, area3})
AN B={5"7}

.2:(B—A'={area2})
3=((4=B) A (B=A)=1 })
4=(A n B={area2, area5})

AU B'={23,56,7,91012}
BN A={142811}
Ans4 = A-B=1{6,10}

, Ans5 = S5=(C n (A v B)={aread, area5, area6 })
B-A= {2,3,9,12} 6=((4 N C) U (B n C)={aread, areal, areab })
(4 U B)’:{Z, 3,9,12} 7=((B-A4) U (B-C)={area2, area3, area6})
A N B'=1{273,912} .8=(A:—B’= {area3, area6})
[(A-B)=1{1,2,3,4,5,7,8,9,11,12} L 9=((4-C) - B={area4, area’, area8 }) _
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areal = {12, 13}

area? = {5
Anst =\ 1= ea3 = 14, 6,{7, 1}0, 143 [
area4 = {8,9, 11}
areal = {6,7,11, 13,14}
area? = {10}
Ans2=| 1= area3 = {4,5}
area4={1,2,3,8,9,12}
[ [ areal=1{3,7,9,11,18} |
area? = {10}
area3 = {12}
aread ={ }
Ans3 =| .1 = areas = 1{ } , .2 =
areab = {6,19}
area7 ={4,5,8}
L Larea8 = {13, 14, 15,16, 17 } |
A v B=1{4,8,9,10,11,12, 14} i
A N B={8,9,14}
AU B= {4,5,6,7,8,9,10, 11, 12, 13, 14}
BnAd={}
Ans4 = A-B=1{4,10,11,12} , Ans5 =

B -A4=1{56,7,13}
(4 U B)=1{5,6,7,13}
A~ B'={56,713}
(A-B)=1{5,6,7,8,9,13, 14} _
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Set0l Answers for No.9358

n(d N B)=1 n(4 v B)=38
2=l n(4-B)=2 n(U-(4 v B))=3
n(B-4)=5 Math@MUT
n(4 N B)=1 n(4 U B)=8
,.2=| n(A-B)=5 n(U-(4 U B))=6
n(B-4)=2 Math@MUT
n(intersect(4, B, C)) =0 n(4-B)=5
n(union(4, B, C)) =12 n(B-A4)=3

n(4 N B)=1 n(C N ((4uvB))=2
n(B N C)=2 n(C U (4 N B))=6
n(4 v C)=11 n(intersect(A4, B, C)') =17
nBuC)=7 Math@MUT

1 =(A v B={areal, area2, area3})
2=(A-B={areal })
3=(4 N B'={aread})
4= (C': {areal, area2, area3, area8 })

S=(C v (A n B)={area2, area4, areal, areab, area7})
6=((4 Y C) n (B v C)={area2, aread, areal, areab, area’7 })
7=((A-B) U (A-C)={areal, area2, aread })
8= (B,— C= {aread, area?7})
.9:((C—A)’—B: {areal, area4, area8})
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Set0l Answers for No.9362
areal ={3,7,9}

area2— {(4.6.15) n(4 ~ B)=3  n(4uUB)=7

Ansl =| .1 = areas = {12 ,.2=| n(4-B)=3 n(U-(4 v B))=6
aread = {5, 8, 16{, 11}; 13, 14} n(B-4)=1 Math@MUT
areal = {5, 11,12} nA ~ B)=2 nA U B)=7
dns2=| 1= a":a“32:{{130’ 1134}} 22| n(4-B)=3 n(U—(4 U B))=8
aread = 4,6,7,8,9, 15, 16, 17} n(B-4)=2 Math@MUT
[ areal = {11,16} ) i
area? = { } n(intersect(4, B, C)) =0 n(4d-B)=5
area3 = {0,5} n(union(4, B, C)) =11 n(B-4)=3
ns3=| 12 aread = {6,7,10} e n(4 N B)=0 n(C N (4 v B))=4
area’ = { } i n(B N C)=1 n(Cu (4nB)=7
area6= {12} n(d4d U C)=9 n(intersect(4, B, C)) =17
area7 = {3,8,15} n(Bu C)=9 Math@MUT
L Larea8={1,2,4,9,13, 14} ]
4w B={0,1,2,680910} [ 1= (B ={areal, aread}) |
,A N B=1{} 2=(4-B ={area3})
AUB:{071,3,4,5,6,7,9} 3=((A-B)n (B-A)={1})
B nA4={23810} 4= (B’= {areal, area4, area7, area8 })
Ans4 = A4-B={0,1,6,9} , Ans5 = S=(4 v (B n C)={areal, areal, aread, area5, area6 })
B -A= {3,4,5,7} 6=((4 U B) n (4 v C)={areal, area, aread, area’, area6 })
(4 v B)’: {3,4,5,7} 7=((C-4) v (C-B)={area4, areab, area7 })
A4 N B= {3,4,5,7} .8=(A' uC= {areal, area?, area3, areab, area7, areas8 })
L (4-B)=1{2,3,4,5,7,8,10} | L 9=(B N (C—A) = {area2, area3, area5}) ]
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Set0l Answers for No.9408

areal = {5, 10}

area2 = 1{7,11, 12} ndnB)=3  nduvB)=6

Ansl =| .1 = 2= n(4-B)=2 n(U-(4 U B))=6
area3 = {8} _
aread = {4,6,9,13, 14,15} n(B-4)=1 Math@MUT
areal = {i’fl{’j}z’ 13 nd n B)=1 n(4 U B)=8
Ans2=| 1= areaz = ,.2=| n(4-B)=4 n(U-(4 U B))=3

area3 =1{5,6,10}

aread = {79, 14} n(B-4)=3 Math@MUT
i i areal = {2,3} i 1
area? = {6, 17} n(intersect(A4, B, C)) =0 n(4d-B)=3
area3 = {10, 11} n(union(4, B, C))=9 n(B-A4)=2
nsi=| 1= aread = {16} . n(d N B)=2 n(C N (4uvB))=1
area’ = { } i n(B N C)=0 n(Cu (4 nB))=5
area6 = { } n4du C)=7 n(intersect(4, B, C)) =18
area7 = {0,12} nBuC)=7 Math@MUT
L Larea8 = {1,4,5,7,8,9,13, 14, 15} | ]
4 v B=1{509,14,16,17} .1=(B':{area], aread})
, AN B=19,14} .2=(B'—A'={area]})
AV B={3,46,7,8,9,10,11,12,13, 14, 15,16} 3=(A=-B) N (B-A)=1{1)
BmA’:{Sa 17} 4=(B n C={area5, areab})
Ansd = A4-B={16} , Ans5 = 5=(C n (4 U B)={aread, area’, areab })
B-A= {3,4,6,7,8,10, 11,12, 13,15} 6=0((4 N C) v (B n C)={aread, areal, areab })
(4 v B)': {3,4,6,7,8,10,11,12,13, 15} J=((B-4) v (B-C)={area2, area3, areab})
A~ B=1{3406,72810,11,12, 13,15} 8=(4 N B'={area7, area8})
[(A—B) =1{3,4,5,6,7,8,9,10,11,12,13, 14,15, 17} ] L 9=(B N (4-C) = {area3, area5, area6}) |
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Set0l Answers for No.9450
areal = {9}

area2 = {2, 6,14} nd n B)=3 n(d4d U B)=17

Ansl =| .1 = area3 = 13.4.12 ,.2=| n(d-B)=1 n(U-(4 U B))=6
aread = {5, 7;{8, 10, 11}, 13} n(B-4)=3 Math@MUT
areal = {3, 5,7} n(d N B)=0  n(4 U B)=8
Ans2=| 1= area3“ieg‘g’:1’{6f879} 22| n(4-B)=3 n(U—-(4 U B))=3
areat= (2.4, 10) nB-A4)=5 Math@MUT
i areal = {4,5} ) i
area? = {1,10, 16} n(intersect(4, B, C))=0 n(4-B)=3
area3 = {6,12} n(union(4, B, C)) =10 n(B-4)=2
dnsi<| 12 aread = {8} e n(4d N B)=3 n(C N (4uvB))=1
area’ = { } i n(B N C)=0 n(Cu (4N B))=6
areab = { } n(d v C)=8 n(intersect(4, B, C)) =16
area7 = {11, 15} n(Bu C)=38 Math@MUT
L Larea8 =1{2,3,7,9,13, 14} ]
A v B={1,3,5,6,7,10,11,12} ] i A=(4A N B={area?}) ]
A0 B={17} 2=(B—A={aread})
A v B={1,2,3,47,8,9,12,13,14} 3=(4" N B ={aread})
BnAs= {5,6,10, 11} 4= (C,= {areal, area2, area3, area8 })
Ans4 = 4-B={3,12} , Ans5= S=(B v (4 n C)={area, area3, aread, areas, area6 })
B-A= {2,4,8,9,13,14} 6=((4 v B) n (B v C)={areal, area3, aread, area’, areat6 })
(4 U B)=1{2,4,8,9,13, 14} 7=((B-4) n (B-C)={area3})
A N B'={2,48,9,13, 14} 8=(4" U C = {areal, area2, area3, areab, area’, area8})
_(A—B)':{1,2,4, 5,6,7,8,9,10,11, 13,14 } L ,9=((B—C)’—A={area6, area7, area8}) |
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Set0l Answers for No.9469

”’6”1:2{_2’ ?’7} nd N B)=1 n(du B)=6
Ansl =| 1= MZZ“ZE;’ 12} 2= n(4-B)=3 n(U-(4 U B))=5
aread = {3,4,5,9, 11} n(B-4)=2 Math@MUT
areal = {15} n(d n B)=2  n(4uU B)=8
Ans2=| .1 = area2={4,8} 2=| n(4-B)=1 n(U—-(4 U B))=7
area3=1{7,9,12,13,17} n(B—A)=5 Math@MUT
aread = {5, 6,10, 11, 14, 16, 18}
[ areal = {9, 13} ] i
area2 = {5,15} n(intersect(4, B, C)) =1 n(4A-B)=4
area3 = {16} n(union(4, B, C)) =11 n(B-A4)=1
nsi<| 12 aread = {6,19} P n(d N B)=3 n(C N (4 v B))=3
' area5 = {17} . n(BnNnC)=1 n(Cu (4 nB))=38
areab = { } n(4 v C)=10 n(intersect(4, B, C)/) =16
area7 = {8, 11, 14} n(Bu C)=9 Math@MUT
L Larea8={3,4,7,10,12, 18} | ]
A4 v B={3,57,8,11,13} 1= (A = {area3, aread})
/ A N B={8} .2:(B—A':{area2})
AUB:{3,4%,6,8,9,10,11,12} 3=(4 N B'={aread})
BN A={5713} .4=(A’: {area3, areab, area7, area8 })
Ans4 = ) A-B={3,11}; , Ans5 = S=(A4 n (B U C)={area2, aread, area5})
B -4=1{4,6,9,10,12} 6=((4 N B) U (4 n C)={areal, area4, area’5})
(4 v B)’: {4,6,9,10,12} 7=((C—-4) u (C—-B)={aread, areab, area7 })
A N B'={4,6910 12} 8=(4'-B' = {area3, area6})
L(A4 —B)': {4,5,6,7,8,9,10,12, 13} L 9=(A4 N (B- C)’= {areal, aread, area5 }) ]
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Set0l Answers for No.9730
areal = {3,5,11,13}

area? ={ } n4d n B)=0 n(4d v B)=7

Ansl =| .1 = areas = 14,6, 15 ,.2=| n(d-B)=4 n(U-(4 U B))=6
aread = {7, 8;{9, 10, 12}, 141 n(B-4)=3 Math@MUT
areal = {8, 14} n(4d N B)=4  n(4 U B)=6
Ans2=| 1= “re“Z;e{aS;ilg 1}5’ 16} ,2=| n(4-B)=2 n(U-(4 U B))=8
aread = {4,6,7,9,10, 12, 13, 17} n(B-4)=0 Math@MUT
i areal ={2,5,15} | )
area2 = {17} n(intersect(4, B, C)) =1 n(d-B)=5
area3 = {4,12} n(union(4, B, C)) =12 n(B-4)=3
nsi<| 12 aread = { 14,19} e n(4d N B)=2 n(C N (4uv B))=4
aread = {6} i n(BnNC)=2 n(Cu (4nB)=7
area6 = {11} n(4 u C)=10 n(intersect(4, B, C)) =17
area7 = {10, 13 } n(B v C)=9 Math@MUT
L Larea8 =1{3,7,8,9, 16, 18} ]
AU B={2,3,56,7,89,12,13} ] [ d=(4 N B={area2}) 7
AN B=1{13} 2=(B ~4'={areal })
A v B={2,3,4,10,11,13} .3:((AUB)':{area4})
BmA':{5,6,7,8,9, 12} 4=(4 N B={area2, area’ })
Ans4 = A-B=1{2,3} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areal, area6 })
B—4A= {4,10, 11} 6=((4 v B) n (4 v C)={areal, areal, aread, area’, area6 })
(4 U B)=1{4,10,11} 7=((B-4) n (B-C)={area3})
A~ B={410,11} 8=(B'— A = {areal, aread})
_(A—B)':{4, 5,6,7,8,9,10,11,12,13}] L .9:(A’ N (B—C)':{area6, area7, area8 }) i
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Set0l Answers for No.9743

areal = {2,6, 10, 12, 13}

area2 = {5} n(4 N B)=1 n(4d U B)=8

Ansl =| .1 = .2=| n(4-B)=5 n(U-(4 U B))=4
area3 ={7,11} _
wread - 13.4.8.0) n(B-A)=2 Math@MUT
“’2‘{?5{212} n(d N B)=2  n(4du B)=7
Ans2=| .1 = areas =1, 2= n(4-B)=1 n(U-(4 U B))=8

area3=1{1,3,4,10}

aread = 10,6,7,8,9, 11, 12, 14} n(B-d)=4 Math@MUT
[ [ areal=1{3,7,10,14} | ]
areal = {2} n(intersect(4, B, C)) =0 n(4-B)=4
area3 = {13,15} n(union(4, B, C)) =10 n(B-4)=3
ns3=| 1= aread ={ } 2= n(4d N B)=1 n(C N (4 v B))=1
area’ = { } n(BnC)=1 n(C U (4 N B))=4
areab = {11} n(d v C)=38 n(intersect(4, B, C)) =16
area7 = {0, 9} n(Bu C)=6 Math@MUT
L Larea8={1,4,5,6,8, 12} ] ]
4w B={2,4,56,8912,13} I .]:(Arz{area3,area4}) 1
AN B={8,13} 2=(4-B={area2})
4 v B={2 %’ 7,8, 10,11, 13, 14, 15 .3:(A’ U B= {areal, area3, area4})
B nA4={45,6,9,12} 4=(A N B={area2,areal})
Ansd = A-B={2} , Ans5 = S5=(B n (4 v C)= {area2, areas5, areab})
B -A= {3,7,10, 11, 14, 15} 6=((4 N B) U (B nNn C)={areal, area’, areat })
(4 U B)=1{3,7,10,11, 14,15} 7=((A-B) n (A4-C)={areal })
A4 N B= {3,7,10, 11, 14,15} 8=(4 U C= {areal, area2, area3, area6, area7, area8})
[(4-B)={3,4,5,6,7,8,9,10,11,12,13, 14,15} | L 9=((B—-A) —C = {area4, areas5, area7}) i
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Set0l Answers for No.9791
areal = {7,10, 11}

area? = {8} n(4 N B)=1  n(4v B)=8

Ansl =| .1 = ,2=| n(4-B)=3 n(U-(4 U B))=3
area3=1{1,2,3,9} _
wread— 145,61 n(B-A)=4 Math@MUT
mal:i’{l;’ g,}m} n(4 N B)=2  n(4 U B)=9
Ans2=| .1 = areas =7 L 2=| n(4-B)=4 n(U-(4 U B))=6

area3 ={3,15,17}

aread = {5, 6,8,9, 10, 141 n(B-4)=3 Math@MUT
[ areal = {1,9, 16} i i
area? = { } n(intersect(4, B, C))=0 n(4d-B)=3
area3={3,7,11,17} n(union(4, B, C)) =11 n(B-4)=6
ns3=| 1= aread ={ } e n(4d N B)=0 n(C N (4 v B))=2
area’ = { } ’ n(B N C)=2 n(C U (4 N B))=4
area6 = {4, 6} nd u C)=7 n(intersect(4, B, C)) =18
area7 = {0, 15} n(Bu C)=8 Math@MUT
| larea8=12,5,8,10, 12,13, 14} |
4 v B={0,2,3,4,7,9,10} i .I=(A': {area3, aread }) ]
, 4N B=1{2} 2=(B-A'={area2})
AuB:{O,l,2,3,5,6,8,9,10} 3=(4' N B'={aread})
BnA={47} 4=(A v B={areal, areal, area3, area4, areas, area6 })
Ansd = 4-B={0,3,9,10} , Ans5 = S5=(B n (4 v C)={area2, area5, areab})
B -A4=1{1,56,8} 6=((4 N B) U (B N C)={area2, area’, areab})
(4 U B)=1{1,5,6,8} 7=((C—-4) n (C-B)={area7})
A N B=1{1,5628} 8=(A4 - C = {area6, area7})
L (A—B)':{1,2,4,5,6,7,8} i L .9=((B—A)’—C={areal,areaZ,areaS}) |
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Set0l Answers for No.9807

areal = {4, 8,13}

area2 = {6, 14} n(4 N B)=2 n(d v B)=9

Ansl =| .1 = ,.2=| n(A-B)=3 n(U-(4 U B))=3
“”ZZ » {:9’{ ;071 i 21}5 J n(B-A)=4 Math@MUT
areal = {10} n(4 N B)=2  n(4 U B)=7
Ans2=| .1 = ar:;;‘f;{g ;!21}4} L 2=| n(4-B)=1 n(U-(4 U B))=7
aread = {1,2,4,7,9,11, 13} n(B-A)=4 Math@MUT
[ [ areal=1{6,7,8,9} ] i
area2 = {10} n(intersect(4, B, C)) =1 n(4-B)=5
area3 = {14} n(union(4, B, C)) =10 n(B-4)=1
ns3=| 1= aread = {13} . n(4d N B)=2 n(C N (4 U B))=2
' aread = {3} . nB N C)=1 n(CuU (4 n B))=5
areab = { } n(4d v C)=9 n(intersect(4, B, C)) = 14
area7 = {2,12} n(Bu C)=6 Math@MUT
L Larea8 = {0,1,4,5,11}] ]
A v B={3,4,5,6,7,8,10,11, 13, 14} [ 1= (B = {areal, aread}) 7
A N B={T} 2=(A-B={areal})
4 B=1{4,7809,1112} 3=0(4 n B)': {areal, area3, area4 })
Bnd= {3,5,6,10, 13, 14} 4=(4 v C={areal, areal, area4, areal, areab, area7 })
Ans4 = A-B=1{4,8,11} , AnsS = S=(B U (4 n C)={area2, area3, aread, areas, area6 })
B —4= {9,12} 6=((4 Y B) n (B v C)={area2, area3, area4, area’, areat } )
(4 U B) =1{9,12} 7=((B-4) n (B-C)={area3})
A~ B=1{9,12} 8=(A" N B = {area7, area8})
_(A—B)':{3,5, 6,7,9,10,12,13,14} | L .9:((C—B)’—A’:{areal,areaZ,areaS}) i
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Set0l Answers for No.9832

areal = {2,3,5,6,10}

area2 = {11} n(4 N B)=1 n(4 U B)=38

Ansl=| .1= 22| n(4-B)=5 n(U-(4 U B))=4
ar:;j“j {‘4;{ 3 ;3 1}2 } n(B-A4)=2 Math@MUT
areal = {5, 6} n(d nB)=1  n(4du B)=7
Ans2=| .1 = are;‘;fii{;;m L 2=| n(4-B)=2 n(U-(4 U B))=4
aread = {3, 8,10, 11} n(B-4)=4 Math@MUT
[ [ areal = {2} ] ]
area2 = {11} n(intersect(4, B, C)) =0 n(4d-B)=2
area3 =1{6,7,12} n(union(4, B, C)) = 10 n(B-A4)=5
I aread = {14} S n(4 N B)=1 n(C (40U B))=3
area’ = { } ’ n(B N C)=2 n(Cu (4N B))=6
area6 = {15,16} nd U C)=7 n(intersect(4, B, C) ) =17
area7 = {10, 13 } n(Bu C)=9 Math@MUT
L Larea8={1,3,4,5,8,9,17}] ]
4 U B={2,3,4,50670911,14} I 1= (B = {areal, aread}) |
/ 4N B=1{49; 2=(4-B = {area2})
AUB:{2,4,7,8,9,10,12,13} .3:(‘4'03':{”@“4})
B nA4={3,561114} 4=(B n C={areas, areab})
Ans4 = A-B={2,7} , Ans5 = S=(A4 n (B v C)={area2, area, areal })
B —A4={8,10,12,13} 6=((A4 N B) U (4 n C)={area2, aread, area5})
(4 v B)’: {8,10, 12,13} 7=((C—-4) v (C-B)={area4, areab, area7 })
A~ B'={8,10,12,13} 8=(B - C'={aread, area’7})
[(A—B) =1{3,4,5,6,8,9,10, 11,12, 13, 14} | L 9=((B-C) — A= {areab, area’, area8}) ]
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Set0l Answers for No.9870

areal = {5,9,12}

area2—f ) nd N B)=0 n(4uU B)=7
Ansl=| 1=\ ooy g gy (27| MA-B)=3 n(U-(4 U B))=5
aread={1,3,4,6,10} n(B-A)=4 Math@MUT
areal = {0,3,8} n(4d N B)=3 n(4d U B)=10
Ans2=| 1= arizai?s{,lé,“ig&)} ,.2=| n(4-B)=3 n(U-(4 U B))=3
aread = (2,11, 12} n(B-A)=4 Math@MUT |
i [ areal = {8} ) )
area? = {9} n(intersect(4, B, C)) =1 n(d-B)=2
area3 = {0,3,4, 10, 12} n(union(4, B, C)) = 10 n(B-A)=5
szl 1o aread = {5} S nA4 ~ B)=2 n(C A (4 U B))=2
area’ = {14} i nBnNC)=1 n(Cu (4 nB))=4
area6 = { } nd v C)=5 n(intersect(4, B, C)) =17
area7 = {6} n(Bu C)=9 Math@MUT
| larea8=1{1,2,7,11,13,15,16, 17} ] i
AU B=1{4,6,8,9,14,15,17} i 1=(4 N B={area2}) ]
' 4 N B={8} 2=(A-B={areal})
A v B=1{3,4,5728,10,11,12,13,14, 15,16, 17} 3=((4 U B) ={aread})
Bn A= {6,9} 4=(A4 v C={areal, area, area4, area$, areab, area?7})
Ans4 = A-B=1{4,14,15,17} , AnsS = S=(A4 n (B v C)={areal, aread, area’ })

B —A4=1{3,57,10,11,12,13,16}
(4 U B)=1{3,57,10,11,12,13,16}
A n B'={3,57,10,11,12,13,16}
| (4-B)=1{3,5,6,7,8,9,10,11,12,13,16}

6=((4 N B) v (4 n C)={areal, aread, area5 })
7=((C-4) n (C-B)={area7})
.8:(A,—B’= {area3, area6 })
L 9=(C n (A—B)rz {area5, area6, area? })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.10168

areal = {8, 11,12}

area? =1{2,3} n(4d N B)=2 n(4d U B)=7

Ansl =| .1 = ,.2=| n(4-B)=3 n(U-(4 v B))=6
area:fz}:ifl,_S,{:: ;?9}, 10} n(B-4)=2 Math@MUT
areal = {3,5,11,12, 14,15} N4~ B)=1 n(A U B)=9
Ans2=| 1= a:erzzz:{é’zg} ,2=| n(4-B)=6 n(U—(4 U B))=6
aread=1{1,4,7,8,10, 13} n(B-4)=2 Math@MUT
[ [ areal=1{2,9,11,16} | )
area? = { } n(intersect(4, B, C)) =0 n(4-B)=5
area3 = {0, 1, 8,10, 13} n(union(4, B, C))=13 n(B-A4)=7
ansi<| 12 aread = {14} . n(4 N B)=0 n(C N (4 v B))=3
area’ = { } i n(B N C)=2 n(C U (4 N B))=4
area6 = {3,4} n(d4d v C)=8 n(intersect(4, B, C)) =17
area7 = {7} n(Bu C)=9 Math@MUT
L L area8=1{5,6,12,15} | ]
4w B={6,8,9,11,12} I 1 =(A4'={area3, aread}) 1
' A4~ B={9,11,12} .2:(A—B':{area2})
4 v B=1{4,5,67, 8{ 9,10, 11,12, 13, 14} .3:(A’ U B'= {areal, area3, area4 })
Bnd=1{} 4=(B v C={area2, area3, aread, areal, areab, area? })
Ans4 = 4-B={6,8} , Ans5 = S=(B v (4 n C)={area2, area3, area4, areas, area6 })
B -A= {4,5,7,10,13,14} 6=((A4 U B) n (B v C)={area2, area3, aread, area’, areab })
(4 v B)’: {4,5,7,10,13, 14} 7=((A-B) U (A-C)={areal, area, aread })
A~ B'={4,5,7,10,13, 14} 8=(C - B = {area2, area3})
L (4-B)=1{4,5,7,9,10,11,12, 13,14} | L 9=((B-A) - C = {area4, areas5, area7}) ]
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Set0l Answers for No.10288

areal = {9, 11, 14}

- n(4d N B)=3  n(4 U B)=8
Ansl =| .1 = “’Z’;;ft’;zl’olf} 2= n(4-B)=3 n(U-(4 U B))=3
wread— 15.6.8) n(B-A4)=2 Math@MUT
area]:goit,36,98;11} nA ~ B)=2 n(A U B)=11
Ans2=| 1= arezr;f {‘1 2512y p2=| BA-BI=5 a(U-(4 U B))=3
aread— 1710131 n(B-A)=4 Math@MUT
[ areal = {13} ] ]
area2 = {9} n(intersect(4, B, C)) =0 n(4d-B)=2
area3 =1{3,7,15} n(union(4, B, C)) = 12 n(B—A)=4
szl 1o aread = {8} 5. n(4 N B)=1 n(C A (4 U B))=2
=T areaS=1{ } Pl = n(B N C)=1 n(C U (4 A B))=8
areab = {6} n(4d v C)=9 n(intersect(4, B, C) )= 16
area7 = {1,5,10, 11,12} n(B U C)=11 Math@MUT
L L area8=1{0,2,4,14} i
4w B=10,2,3,5,6,7,8,12} I AI:(Arz{area3,area4}) i
AN B=1{2,5) 2=(A-B={areal})
AU B={1,2,4,5389,10,11} 3=(4 A B'= laread))
B A=1{0,306712

4=(4 v B={areal, area2, area3, aread, areal, areab } )
Ans4 = A-B={8} S=(4 v (B n C)={areal, areal, aread, area5, area6 })
B —d= {1,4,9,10,11} 6=((4 Y B) n (4 v C)={areal, area2, area4, area’, areal } )
(4 U B)= {1,4,9,10, 11} 7=((B—-4) n (B-C)={areal3})
A~ B'={1,4,91011} 8=(B U C'={areal, area2, area3, aread, area’, area8 })
l(4-B)=1{0,1,2,3,4,5,6,7,9,10, 11, 12} ]

L 9=(B n (C—-A4) ={areal, aread, area8 }) ]
D010 00:0:0.0010:0:0:0:0:0.0.0.010.0:0:0.0:0.0.00.0.0:0:0:0.0.0.0.00:0:000:0.0.0.00:0:0:0:0.0.0.00'0:0:00:0.0.0.00'0:0:00:0.0.0.0.0:0:0:0:0.0.0.0.0.0:0:0.00:0.0.0.00:0:0:0:0.0.0.0.0:0:0:00:0.0.0.0:0'0:0:0:0.0.0.0'0'0:0:0:0:0.0.0.0:0'0:0:0:0:0.0.0'0'0'

, Ans5 =
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Set0l Answers for No.10502

areal ={5,6,7} (4 A B)=2  n(4 U B)=6
Ansl =| 1= “rjjjai“{‘;f} 2=| n(4-B)=3 n(U-(4 U B))=5
| laread=8.9,11,12,133]  trB-AD=1 Math@MUT |
areal zz{f’ % 10} (4 A~ B)=1  n(4 U B)=10
Ans2=| 1= area3:a}i{62a, 3175}; s 11y 2= MA4-B)=3 n(U=(4 © B)=3
i aread = {12, 13, 14} Ln(B-4)=6 Math@MUT ]|
i areal = {2,9} ) |
area? = {3,14,15} n(intersect(A4, B, C))=0 n(4d-B)=4
area3 = {16} n(union(4, B, C)) = 11 n(B-A)=1
| g areat={7.13} 5 n(4 N B)=3 n(C (4 U B))=2
' area5=1{} > n(B N C)=0 n(Cu (4N B)=38
areab = { } n(4 v C)=10 n(intersect(4, B, C)') =16
area7 = {8, 10, 12} n(B v C)=9 Math@MUT
L Larea8 = {4,5,6,11, 17} ]
4V B={4,7,8,9,11,12,14,15,17} [ A =(4 v B={areal, area2, area3})
’ AnB={} 2=(B' —A={aread})
4 v B=1{3,5,6,8,10,12,13, 14, 16 } 3=((4-B) U (B—A)={areal, area3})
B A={47911,1517} 4=(B v C={area2, area3, aread, areas, area6, area7 })
Ansd = A-B=1{8,12,14} , Ans5 = S5=(B N (A4 v C)={area2, areal, area6})
B-A= {3,5,6,10,13,16} 6=((4 N B) U (B n C)={area2, areas, area6 })
(4 U B)’: {3,5,6,10, 13,16} 7=((C—-4) v (C-B)={aread, areab, area7 })
4 A B'=1{3,5610,13,16} §=(4 - C = {areal, area7 })
[(A-B) =1{3,4,5,6,7,9,10, 11,13, 15,16, 17} L 9=((C-B) —A={area3, areab, area8 } ) i
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Set0l Answers for No.10562

areal ={5,6,7,10, 14} n(A A B)=0 n(4 U B)=11

Ansl =| 1= area2 ={ } 2=| n(4-B)=5 n(U-(4 U B))=2
areal ;r{ei’f; i 31’ 19’ }12’ 13} n(B-4)=6 Math@MUT
areal = {8,12,13} nA ~ B)=2 nA U B)=7
Ans2=| 1= ZZZZ?iiiZi ,2=| n(4-B)=3 n(U-(4 U B))=1
aread = {4.7,9.10, 11, 14,17} n(B-A)=2 Math@MuT
[ [ areal = {4, 11} ] 1
area? = { } n(intersect(4, B, C)) =0 n(4-B)=4
area3={3,6} n(union(4, B, C)) =10 n(B-—A4)=3
dnsi<| 12 aread = {1,12} . n(4d N B)=0 n(C N (4 v B))=3
area’ = { } i nB N C)=1 n(Cu (4 nB))=6
areab = {5} n(4 v C)=38 n(intersect(4, B, C) )= 18
area7 ={2,9, 14} n(Bu C)=8 Math@MUT
L Larea8 = {7, 8,10, 13,15, 16, 17, 18 } | ]
I 4 U B=1{4,56,8,11,12,15,16,18} 1 I 1 =(4 U B={areal, area2, area3})
AN B={41118} 2=(B -4 ={areal })
AU B=1{4,5"1,9,10,11,13,14,15,17, 18} 3=(4 n B'={aread})
Bnd= {6,8,12,16} 4=(B v C={area2, area3, area4, areal, areab, area7 })
Ans4 = A-B={5,15} , AnsS = S=(4 v (B n C)={areal, area2, aread, area5, area6 })
B —4A= {7,9,10,13, 14,17} 6=((4 Y B) n (4 v C)={areal, area2, area4, area’, areal } )
(4 v B)': {7,9,10,13, 14,17} J=((B-4) v (B-C)={area2, area3, areab })
4 A B'=1{7,9,10,13, 14,17} 8=(B'— A4 ={areal, aread})
L(A-B) =1{4,6,7,8,9,10, 11, 12, 13, 14, 16, 17, 18 } | L 9=(B N (C-A) = {areal, area4, area8 }) i
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Set0l Answers for No.10683

Ans4 =

[Page = 0021]

areal ={3,7,12,13}

° n(4 N B)=2  n(4duU B)=7
Ansl =| 1= “rjjja;ft‘gl}l} 2= n(4-B)=4 n(U-(4 U B))=5
aread = 1{2,5,6,9, 10} nB-4)=1 Math@MUT
areal = {25’,1?114;’ 163 n(4 n B)=1 n(4 U B)=8
Ans2=| .1 = ‘”;“_ {‘3 0y 2= MA-BI=4 a(U-(4 U B))=6
areaz =121, n(B-A4)=3 Math@MUT

area4d = {4,6,8,9,12, 15}

i [ areal = {8, 18} 1
area? = { } n(intersect(4, B, C)) =0 n(4-B)=3
area3 = {4,12} n(union(4, B, C)) =9 n(B-A)=4
sl 1o aread = {5} S n(d N B)=0 n(C N (4 U B))=3
' area5=1{} > n(B N C)=2 n(C U (4N B))=5
area6 = {16, 17} n(d v C)=7 n(intersect(4, B, C)) = 18
area7 = {2,11} n(Bu C)=7 Math@MUT
Larea8 = {3,6,7,9, 10,13, 14, 15, 19} | ]

A B={8, 11,12}

AU B={3,4,6,78,91011,12,13}
BnA={25)}
A-B=1{7,9,10,13}

B —A=1{3,4,6}

(4 U B)=1{3,4,6}

A N B={3,4,6}

, AnsS =

[ 4 U B={2,578,910,11,12,13} | r

L (4-B)=1{2,3,4,568,11,12} | L
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢

i :(A': {area3, aread })
2=(B-A4A={area3})

3=((A4-B) U (B—A)={areal, area3})
4=(A4 v C={areal, area2, area4, areal, area6, area?7 })
S5=(C U (A4 n B)={area2, area4, areas, area6, area?7 })

6=((4 U C) n (B v C)={area2, aread, area’, areab, area7})
7=((B-4) U (B-C)={area2, area3, area6})
8=(A4' - C = {area6, area7})
9=((4 —B)/— C'= {area5, area6, area’7})
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Set0l Answers for No.11104

areal = {10, 11}

X

[Page = 0022]

Ans4 =

- n(d N B)=3 n(d U B)=5
Ansl =| 1= “reZie;;f’:’}lz} 2= n(4-B)=2 n(U-(4 U B))=6
aread = {3,6,7,8,9, 13} n(B-4)=0 Math@MUT
areal = {0, 1,4, 10
areaz{:{g 12} ' n(4d N B)=2 n(4 U B)=7
Ans2=| .1 = area3—{’5} L 2=| n(4-B)=4 n(U-(4 U B))=8
aread = {2,3,6,7,8, 11, 13, 14} n(B-4)=1 Math@MUT
[ areal = {11} ] ]
area? = {2,12} n(intersect(4, B, C)) =0 n(4d-B)=1
area3 ={8,9,10} n(union(4, B, C)) =12 n(B-A4)=3
ns3=| 17— aread = { } P n(4d N B)=2 n(C N ((4uvB)=0
S area5=1{ } Al n(B N C)=0 n(C U (4 n B))=8
area6 = { } n(d v C)=9 n(intersect(4, B, C)) =17
area7 = {3,6,7,13,14,17} n(B U C)=11 Math@MUT
L area8={1,4,5,1516} ]

AU B={7,9,11,12,13, 14}
AN B={7,912}

AU B'=1{4,56,7,8,910,11,12,13, 14}
BnAd={}
A-B=1{11,13,14}

B -A=1{4,5,6,8,10}

(4 U B)=1{4,5,6,8,10}

A N B={4,5,6,8,10}

, AnsS =

(4-B)=1{4,5,6,7,8,9,10,12}

d=(4'= {area3, aread })
2=(A—-B={areal })

3=((4 U B) ={aread})

4= (B’: {areal, area4, area7, area8 })
S=(C n (4 U B)={aread, area’, area6 })
6=((4 N C) v (B n C)={aread, areal, areab })
7=((C-A4) n (C-B)={area7})
.8=(A' N B'= {area7, area8})

.9=((A-B) - C = {area5, area6, area7})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.11306

areal = {5,6,14, 15} 24 A B)=2 n(A4 U B)=9
Ansl =| 1= af;;;’i:{ygli}} 2= n(4-B)=4 n(U-(4 U B))=3
aread = 9,10, 11} n(B-4)=3 Math@MUT |
areal = {6,12,13,16} nA A B)=1 n(A U B)=S8
Ans2=| .1 = are;;e:ai’z{l(g),}w} L 2=| n(4-B)=4 n(U-(4 U B))=5
aread = {4,5,8, 11, 14} n(B-4)=3 Math@MUT
[ areal = {3,4,8,14} | i i
areal = {2} n(intersect(4, B, C)) =1 n(4A-B)=5
area3 ={ } n(union(4, B, C)) =10 n(B-4)=1
nsi<| 1< aread = {5} 2 n(d N B)=2 n(C N (4 v B))=3
aread = {7} i nB N C)=2 n(Cu (4 nB))=6
area6 = {10} n(4 v C)=10 n(intersect(4, B, C) )= 15
area7 = {0, 11} L n(Bu C)=6 Math@MUT
L Larea8 = {1,6,9,12,13, 15} ] ]
[4 U B=1{0,1,2,3,4,6,7,9,10} | [ 1=(B = {areal, aread’) i
40 B=1{0,1} 2=(A-B={aread})
4w B={0,1,56,809} 3=((4 U B) = {aread})
BN A={23,4710; 4= (A’= {area3, areab, area7, area8 })
Ansd = A-B=16,9} , Ans5 = S=(B N (4 v C)={area, areal, areal })
B-A= {5,8} 6=((A4 N B) U (B N C)={areal, area’, areat })
(4 U B)=1{5,8} 7=((A4-B) n (A-C)={areal})
A4 N B= {5,8} .8=(A' U C= {areal, area2, area3, areab, area7, area8})
L(4-B)=1{0,1,2,3,4,5,7,8,10}] L 9=((B-C) -4 ={areal, aread, area5}) i
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Set0l Answers for No.11312

areal = {3,6,12}

n(4d N B)=3 n(d4d v B)=17
Ansl =| 1= C”ZCZ;{_S’{?’}” 2= IE(A—B):3 n(U-(4 U B))=6
aread = {0,2,4,7,10,11} n(B-4)=1 Math@MUT
areal ={2,3,6,13, 14} n(A A B)=0 nA U B)=S8
Ans2=| 1= arerfZ{Z,{s,}u} ,2=| n(4-B)=5 n(U-(4 U B))=1
aread = {5,7,9,10, 11, 15, 16} n(B-4)=3 Math@MUT
[ [ areal=1{2,4,12} ] T
area2 = {10, 11} n(intersect(4, B, C))=0 n(4d-B)=4
area3 = {17} n(union(4, B, C)) =13 n(B-4)=3
nsi<| 1< aread = {16} . n(d N B)=2 n(C N (4 U B))=3
area’ = { } ’ n(B N C)=2 n(Cu (4N B))=9
area6={6,9} n(4d v C)=12 n(intersect(4, B, C)') =16
area7 = {3,5,8,15} n(Bu C)=10 Math@MUT
L L area8 =1{7,13,14} | ]
(4 U B=1{2,3,4,6,8,9,10,11, 12} I 1=(4 U B={areal, area2, area3})
AN B={69} 2=(B —4'={areal’})
4 v B={35,670910,11} 3=(4" U B ={areal, area3, aread})
BmA':{2,4,8, 12} A4=(A4 n C={aread, area5})
Ans4 = A-B=1{3,10,11} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areal, area6 })
B -A= {5,7} 6=((4 v B) n (4 v C)={areal, areal, aread, area’s, area6 })
(4 U B)={57} 7=((B-4) n (B-C)={area3})
A N B={517} 8=(B U C={areal, area, area3, aread, area’, area8})
| (4-B)=1{2,4,5,6,7,8,9,12} L
X [Page = 0024]

9=(4 n (B-C) ={areal, area4, area5 }) |
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Set0l Answers for No.11450

[Page 0025]

Ans4 =

":“’21_: {{7128}} n(d N B)=2 n(4u B)=6
Ansl=| .1 = a:ezg—_m 561 2= n(4-B)=1 n(U-(4 U B))=6
aread =12,3,9,10, 11, 13} n(B-4)=3 Math@MUT
areal :2{,2’{96’}10} n(4d ~B)=1 n(4 U B)=9
Ans2=| 1= areaj_“’:; S 12 13 15) 2= n(4-B)=3 n(U-(4 U B))=5
aread = 14,5,7, 11, 14} n(B-4)=5 Math@MUT ]|
[ [ areal=1{6,8,13} | )
areal = {4} n(intersect(4, B, C)) =1 n(4A-B)=4
area3 = {9, 10, 14} n(union(4, B, C)) = 11 n(B-A4)=5
i | areat=116} 5 n(d N B)=2 n(C A (4 U B))=4
IEEE greas=1{15) 0T n(B N C)=3 n(C U (4 N B))=5
area6 = {3, 17} n4 v C)=8 n(intersect(4, B, C)) = 14
area7 = { } n(Bu C)=8 Math@MUT
Larea8 = {5,7, 11,12} J

A U B={4,8,9,10,11, 12, 14}
A~ B={10}

B'=1{4,5,6,7,8,9,10,12,13,15,16}
B nA={11,14}
A-B=1{4,8,9 12}

B —A4=1{5,6,7,13,15,16}
(4 U B)=1{5,6,7,13,15,16}
A~ B={56,713,1516}

, Ans5 =

L (4-B)=1{5,6,7,10,11, 13, 14, 15,16} |

AI:(A’= {area3, aread })

.2=(A'—B= {area4})
3=((A4-B) U (B-A4)={areal, area3})

4=(4 v C={areal, areal, area4, areal, areab, area7 })
S=(4 n (B v C)={area2, area4, area5 })
6=((4 N B) U (4 n C)={areal, aread, area5})
7=((C—-4) n (C-B)={area7})
,8=(A’ N C= {area3, area8 })

.9:(8' N (4 —C)’: {aread, area7, area8 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12149

areal = {4,6,8,11}

area2=1{7,10} n(4 N B)=2 n(4 v B)=7

Ansl =| .1 = ,.2=| n(4-B)=4 n(U-(4 v B))=5
area4a:e{al3,_2,{39, }5, 12} n(B-A)=1 Math@MUT
areal = {4, 8,10, 14, 15} nA A B)=1 n(A U B)=S8
Ans2=| 1= afer:;’i:{glg} 2= n(4-B)=5 n(U-(4 U B))=6
aread = 6,7,9, 12,16, 17} n(B-4)=2 Math@MUT
[ areal = {12,18} ] i
area? = { 13,17} n(intersect(4, B, C))=0 n(4d-B)=2
area3 = {5,6,9,15} n(union(4, B, C)) =11 n(B-4)=4
ns3—| 1o aread = { } e n(4 N B)=2 n(C N (4 v B))=0
areas = { } ’ n(B N C)=0 n(Cu (4 N B))=5
area6={ } nd u C)=7 n(intersect(4, B, C)) =17
area7 ={2,7,8} n(Bu C)=9 Math@MUT
| larea8=13,4,10,11, 14,16} ]
(4 U B=1{2,5,6,7,8,9,10, 11, 12} r 1=(4 N B={area2}) T
ANnB={} 2=(B-A'={area2})
4w B={23,47,10} 3=((4 N B) = {areal, area3, aread})
Bnd= 15,6,8,9,11,12} 4=(A v B={areal, areal, area3, area4, area5, area6 })
Ans4 = A-B=1{2,7,10} , Ans5 = S5=(C U (A4 n B)={area2, area4, areas, area6, area?7 })
B -A= {3,4} 6=((4 v C) n (B U C)={area2, area4, areal, areab, area7 })
(4 U B)=1{3,4} 7=((C-4) n (C-B)={area7})
A N B':{3,4} .8=(A'—B’={area3,area6})
L (A—B)':{3,4,5,6,8,9,11,12} ] L .9:(3’0 (C—A)/:{area],area4,area8}) |
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Set0l Answers for No.12181

“reflzfz{’;’ls(;f} n(4 N B)=2  n(4 U B)=9
Ansl =| .1 = afg;;’_‘H o.11y p2=| MA=B)=4 n(U=(4 U B))=3
aread = {1,7,12} n(B-4)=3 Math@MUT ]
”ml:ﬁ’{galg’}u} n(4 N B)=2  n(duU B)=9
Ans2=| .1 = GZZ;‘_‘{Z S8y 2= MA-B)=4 n(U-(4 U B)=2
areat— {7, 11] n(B-A4)=3 Math@MUT
[ areal = {7,16,17} i |
area? = {8} n(intersect(A4, B, C)) =1 n(4d-B)=4
area3=1{0,5} n(union(4, B, C)) =11 n(B-A4)=2
i 12 aread = {6} S n(4d N B)=2 n(C N (4 U B))=2
mI= AT areas = {3} 4= n(B n C)=1 n(C U (4 N B))=6
area6 = { } nd4 U C)=9 n(intersect(4, B, C)) =17
area7 = {1,12,13} n(Bu C)=8 Math@MUT
Larea8 = {2,4,9, 10, 11, 14, 15} | ]

AU B=1{4,7,8,11,13,14,15,16,17}
AN B=1{7,13,16}

A U B'=1{4,56,7,9,10,12,13, 14,16}
BN A={811,1517}

Ans4 = ’ A—-B={4,14} , AnsS =

B -A4=1{5,6,9,10,12}

A= (B': {areal, aread })
2=(A-B={area2})
3=((4 U B) = {aread})
4= (A, = {area3, areab, area’, area8 })
S=(4 v (B n C)={areal, areal, aread, area5, area6 })
6=((4 v B) n (4 v C)={areal, area?, area4, area5, areat6 })

(4 v B)': {5,6,9,10,12} 7=((A-B) n (A-C)={areal})
A N B= {5,6,9,10,12} 8= (B' U C= {areal, area2, area3, area4, area7, area8})
l(A-B)'=1{5,6,7,8,9,10, 11, 12, 13, 15, 16, 17} ] L 9=((B-A4) - C = {aread, areas5, area7}) ]
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Set0l Answers for No.12234

areal = {3,10}

area2 = {11} n(4 N B)=1 n(4d U B)=6

Ansl =| .1 = ,.2=| n(A-B)=2 n(U-(4 U B))=6
areajfria: 1?2{,64;,85,,97}; 12} n(B-4)=3 Math@MUT
areal = {6,11,16,17,18} N4~ B)=1 n(Ad U B)=8
Ans2=| 1= arzgi?{glé} ,2=| n(4-B)=5 n(U-(4 U B))=1
aread = {4,5,9, 10,12, 14,15} n(B-4)=2 Math@MUT
T areal = {4} ] ]
areal = {5} n(intersect(4, B, C)) =0 n(4A-B)=2
area3 = {7} n(union(4, B, C)) =10 n(B-4)=3
Ans3—| 1= aread = {2} e n(4d N B)=1 n(C N (4 U B))=3
area5={ } ’ nBnNC)=2 n(Cu (4 nB))=28
areab = {8,12} n(4d v C)=9 n(intersect(4, B, C) ) = 14
area7 ={6,9, 11, 15} n(Bu C)=9 Math@MUT
L Larea8 = {3, 10, 13, 14 } | ]
[ 4 U B=1{4,5,610,11,12,14,15} | i 1=(4 U B={areal, area2, area3}) i
- AN B={512} 2=(B-A'={area2})
Av B=1{4,56,7,8,9,12,13,14,15} 3=((4 U B) = {aread})
Bnd= 110,11} 4=(4 v C={areal, area, aread, areal, areab, area?7 })
Ans4 = A-B=1{4,6,14,15} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areal, area6 })
B —d= {7,8,9,13} 6=((4 v B) n (4 v C)={areal, areal, area4, area’s, area6 })
(4 U B)=1{7,8,9,13} 7=((C-4) n (C-B)={area7})
A N B'={78,913} .8=(B - C = {aread, area7})
L (A—B)':{Sj 7,8,9,10,11,12,13} | L 9=(B N (A—C)’:{area3,area5,area6}) |
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Set0l Answers for No.12288

areal = {2,6,9,13}

area? ={ } n(4d N B)=0 n(4d v B)=7

Ansl =| .1 = area3 = (7,12, 14} ,.2=| n(4-B)=4 n(U-(4 v B))=6
aread = {3,4,5,8,10, 11} n(B-A)=3 Math@MUT
areal = {5,9} n(4 N B)=2  n(4 U B)=9
Ans2=| .1 = areal = {8, 12} 2= n(4-B)=2 n(U-(4 U B))=6
area3 =1{7,10,13,15,16} n(B-A)=5 Math@MUT
area4d =1{3,4,6,11, 14,17}
[ areal = {12} ) i
area2 = {9} n(intersect(4, B, C)) =1 n(4-B)=3
area3 = {10} n(union(4, B, C)) =10 n(B-—A4)=2
ns3=| 1 aread4 = {13,15} P n(4d N B)=2 n(C N (4 v B))=4
' aread = {3} u n(B N C)=2 n(Cu (4 nB))=38
area6= {7} n4 v C)=9 n(intersect(A4, B, C)') =13
area7 = {5,6,16} n(Bu C)=9 Math@MUT
L Larea8 = {4, 8, 11, 14} ]
4w B={4,6,7,8,9,10,12,13,15,16} [ 1 =(A v B={areal, area2, area3})
4N B={713,16} 2=(A—-B={areal})
AU B'=1{4,57,10,11,12,13,14,15,16} 3=((4 U B) ={aread})
BnA= {6,8,9} 4= (B’: {areal, area4, area7, areas })
Ans4 = A4-B=1{4,10,12,15} , Ans5 = S=(A4 n (B v C)={area2, area4, areals})
B-A= {5,11,14} 6=((4 N B) U (4 n C)={areal, aread, area’5})
(4 U B)=1{511,14} T=((B-4) N (B-C)={area3})
A N B=1{511,14} .8=(A4 - B'= {area3, area6})
L (A—B)':{5,6,7, 8,9,11,13,14,16} | L 9=(B N (C—A)’:{areaZ,area3,area5}) J
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Set0l Answers for No.12311

rar;i]{zl{GS}IO} n(4 A B)=3  n(4 U B)=6
Ansl=| .1 = “jfea;_{’4’9} 2= n(4-B)=1 n(U-(4 U B))=7
aread =1{2,3,7,8, 11,12, 13} n(B-4)=2 Math@MUT
areal =2{i1,{1138,;5} n(d N B)=1  n(4 U B)=6
Ans2=| 1= afer:‘;_‘{g 16) L 2=| n(4-B)=3 n(U-(4 U B))=9
aread = {5,6,7,9,10,11,12, 14,17} n(B-4)=2 Math@MUT
[ areal = {5,6} i i
area? = {3} n(intersect(4, B, C)) =0 n(4-B)=2
area3 = {11} n(union(4, B, C)) =11 n(B-A)=4
aread = { } n(4d N B)=1 n(C N (4uvB))=3
Ans3 =| .1 = ,.2=
area’ = { } n(B N C)=3 n(Cu (4N B))=8
areab = {8,13,17} n(4 v C)=10 n(intersect(4, B, C)) =17
area7 = {9, 10, 12,15} n(B U C)=9 Math@MUT
L Larea8 = {4, 7, 14,16, 18, 19} | i
AU B=1{5738.9,11,12,15} | i d=(A4  B={area2})
AN B=1{8} 2=(B'—A'={areal})
4V B={4,6728,1012,13,14} 3=((A4-B) U (B-A)={areal,area3})
B nA4={5091115} .4:(A’: {area3, areab, area7, areas })
Ans4 = A4-B=1{7,12} , AnsS = S=(4 v (B n C)={areal, area2, aread, area5, area6 })

B —A=1{4,6,10, 13,14}
(4 U B)=1{4,6,10,13, 14}

A N B'={4,6,10,13,14}
L(A-B) =1{4,5,6,8,9,10, 11, 13, 14, 15}

X [Page = 0030]

6=((4 Y B) n (4 v C)={areal, area2, area4, area’, areat } )
7=((A-B) n (A-C)={areal})
,8=(B’ N C= {areal, area8 })
.9:((B—A)’— C'= {aread, area5, area7})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12318

areal = {8,9, 11}

Ansl =| .1 =

area2 ={1,2,7}
area3={3,6}
area4 = {4,5, 10}

areal = {3,4,12,13

area2 ={2,5,9}
Ans2 =\ .1 = area3 = {6,8}
area4 ={7,10, 11}
[ [ areal = {8} ]
areal = {4}
area3 = {3,10, 11,16}
aread = {12}
Ans3=|.1= areas = 1{ } ,.2=
areab={2,6}
area’7 = {9, 13}
L L area8 =1{5,7,14,15} |
AU B=1{2,3,4,8,10,12, 14,15}
A N B={4}
AU B'=1{3,4,56,7,8,9,10,11,12,13, 14}
BN A={215}
Ansd = A-B=1{3,8,10,12,14} | Ans5 =
B -A4=1{5,6,7,9,11,13}
(4 U B)=1{5,6,7,9,11,13}
A N B=(56,7911,13}
| (4-B)=1{2,4,5,6,7,9,11,13,15} |
= 0031]

n(4 N B)=3 n(4 U B)=8
,.2=| n(4-B)=3 n(U-(4 U B))=3
n(B-4)=2 Math@MUT
; n(4d N B)=3 n(4d U B)=9
,.2=| n(4-B)=4 n(U-(4 U B))=3
n(B-A4)=2 Math@MUT
n(intersect(4, B, C)) =0 n(d-B)=2
n(union(4, B, C)) =11 n(B-A4)=6
n(4 N B)=1 n(C N (4 U B))=3
n(Bn C)=2 n(Cu(4n B)=6
n(4 v C)=7 n(intersect(4, B, C)) = 15
n(B v C)=10 Math@MUT

1 =(A4 v B={areal, area2, area3})
2=(B -A={aread?)
3=((4-B) n (B-A)={1})
4= (B = {areal, area4, area7, area8 })
S=(B U (4 n C)={area2, area3, aread, area5, area6 })

7=((A=B) N (4-C)={areal})

.8:(C,—A’= {areal, area?})

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXXKX XXX XXX KK KKK XXX KK LXK XXX LXK XXX XXX LXK XXX KK LXK XXX KKK XK XXX KK XXX XXX KKXKXKKKXKMA /2-6300301-00031XX

6=((4 Y B) n (B v C)={area2, area3, aread, area’, areal } )

9=(B n (4-C) ={aread, area?7, area8})
PO0I000:0:0.0010:0:0:0:0:0.0.0.010.0:0:0.0:0.0.0.0.0.0:0:0:0.0.0.0.00:0:000:0.0.0.00:0:0:0:0.0.0.0.0'0:0:00:0.0.0.0.0'0:0:00:0:0.0.0.0:0:0:0.0:0.0.0.0.0:0:0:00:0.0.0.00:0:0:0:0.0.0.0.0:0:0:00:0.0.0.0:0.0:0:0:0.0.0:0'0'0:0:0:0:0.0.0.0:0'0:0:0:0:0.0.0'0'0'
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Set0l Answers for No.12322
areal = { }

area? {4, 6,10} n(4 N B)=3  n(4 U B)=5

Ansl =| .1 = area3 =15, 12 ,.2=| n(4A-B)=0 n(U-(4 U B))=7
aread = {1,2, ; 7, 8,}9, 1} nB-4)=2 Math@MUT
areal = {2,7, 8} n(d N B)=0  n(4d U B)=7
Ans2=| 1= area;‘f?i:g’{li,lz} 22| n(4-B)=3 n(U—(4 U B))=4
aread = 3,5,6.10} | n(B-A4)=4 Math@MUT
[ [areal =1{0,2,10,13,15}] ]
area? = { } _n(intersect(A, B,C))=0 n(4-B)=7
area3 = {5,6,8, 11} n(union(4, B, C)) =12 n(B-A4)=4
dnsi<| 12 aread = {4, 14} P n(4d N B)=0 n(C N (4uvB))=2
' area5=1{} - n(B N C)=0 n(C U (4 N B))=3
areab = { } n(4 v C)=8 n(intersect(4, B, C)/): 16
area7 = {7} L n(Bu C)=7 Math@MUT
L area8=1{1,3,9,12} ]
[ 4 v B={2,4,5,6,8,11,14,15} 1 [ I=(4 v B={areal,area2, area3})
AN B={25} 2=(A-B = {area2})
A v B={1,2,35,6,7,9,10,12,13} 3=((4 U B)’: {aread})
Bnd= {4,8,11,14,15} 4=(B v C={area2, area3, area4, areal, areab, area7 })
Ans4 = A-B=1{6} , AnsS = S=(B v (4 n C)={area, area3, aread, areas, area6 })
B -A= {1,3,7,9,10, 12,13} 6=((4 U B) n (B v C)={area2, area3, aread, area’, areal } )
(4 U B)=1{1,3,7,9,10,12,13} 7=((C-4) n (C-B)={areal})
A4 N B={1,3,7,9 10,12, 13} 8=(B U C={areal, area2, area3, aread, area’, area8})
l(A4-B)=1{1,2,3,4,5,7,8,9,10, 11, 12, 13, 14, 15} | L 9=((4-B) - C= {area2, area3, area8 }) i
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Set0l Answers for No.12328

areal = {9, 10}

area2= (16,11} n(4 n B)=3  n(4uU B)=6

Ansl =| .1 = ,.2=| n(4-B)=2 n(U-(4 v B))=6
ont ir‘g‘(’f 2‘ 245} - n(B-A)=1 Math@MUT
“’62"1::51}3 n(d N B)=2  n(4du B)=8
Ans2=| 1= area;”;eczl_a{lz),ll}, Iy 2= MA-B)=1 n(U=(4 U B))=7
aread = {0,1,3,7,8,9, 14} n(B-4)=3 Math@MUT
[ areal = {12} i T
area? = {4, 11} n(intersect(4, B, C)) =1 n(4d-B)=1
area3 = {13,17} n(union(4, B, C)) =10 n(B-4)=4
ns3—| 1 aread = { } e n(4 N B)=3 n(C N (4vB))=3
areas = {15} ’ n(B N C)=3 n(Cu (4 nB))=7
area6 = {9, 16} n(4 v C)=8 n(intersect( 4, B, C)') =16
area7 = {8,10} n(Bu C)=9 Math@MUT
L Larea8={1,2,3,5,6,7, 14} ] ]
AU B=1{506,7,89,11,13,15,16,17} | [ 1=(B = {areal, aread}) i
' 4 N B=1{509,17} .2:(B’—A'={area1})
AU B={4,5,6, 9,’10, 11,12, 14, 15,16, 17} 3=(A4 U B'={areal, area3, aread} )
B nA4={7813} 4=(A4 U B={areal, area2, area3, aread, areal, area6 })
Ans4 = 4-B={6,11,15,16} , Ans5 = S5=(C v (4 n B)={areal, area4, area$, areab, area?7})
B-A= {4,10, 12,14} 6=((4 v C) n (B v C)={area2, aread, areas, areab, area?7 } )
(4 v B)': {4,10, 12,14} 7=((C-4) v (C-B)={aread, areab, area?7 })
A N B= {4,10,12, 14} 8= (B' U C= {areal, area2, area3, aread, area7, aread })
L (A—B)':{4, 57,8,9,10,12,13, 14,17} | L .9=((C—B),—A={area3, areab, aread }) |
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Set0l Answers for No.12335

[Page 0034]

Ans3 =| .

Ans4 =

areal = {7}
area? =1{2,5,6,11}
area3 = {4,8}
area4 ={0,1,3,9,10}
areal = {1,3,7,10,12}
area? ={5,9}
area3 =1{6,8,11}
aread = {2,4,13}
areal = {4, 6,10, 11} ]

areal = {8}
area3 =1{2,16}
aread ={ }
aread={ }
areab= {5}
area7 = {1, 17}
L Larea8 = {0,3,7,9, 12,13, 14,15} ]
A v B=1{0,1,3,4,5,6,9,12,14}
A N B={512}

AU B'=1{0,2,5177810,11,12,13, 14}
BN A={1,34609}
A-B={0,14}

B -A4=1{2,7,8,10,11,13}

(4 U B)=1{2,7,8,10,11,13}

A4~ B={2,7231011,13}

Ansl =| .1 =

Ans2 =| .1 =

[(A-B)=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13} |

,-2:

>

n(4d N B)=4 n(4 v B)=17
,.2=| n(A-B)=1 n(U-(4 U B))=5
n(B-4)=2 Math@MUT
n(4d N B)=2 n(4 v B)=10
,.2=| n(4-B)=5 n(U-(4 U B))=3
n(B-A4)=3 Math@MUT
n(intersect(4, B, C)) =0 n(4-B)=4
n(union(4, B, C)) =10 n(B-4)=3
n(4d N B)=1 n(C N (4 v B))=1
n(B nC)=1 n(C U (4 N B))=4
n(4 v C)=8 n(intersect( 4, B, C)'): 18
n(Bu C)=6 Math@MUT
.1=(B': {areal, aread })
.2=(B'—A= {area4})
3=(4 N B'={aread})
4=(A n C={area4, areas})
Ans5 = S=(B N (4 v C)={areal, areas, area6})

6=((4 N B) U (B n C)={area2, areas, areab})
7=((B-A4) U (B-C)={area2, area3, area6})
8= (A'—Brz {area3, areab6 })
L 9=((A-C) - B= {aread, area’, area8 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12340

areal = {6,7,14, 15,16}

X

n(4 N B)=1

area? = {11} n(4 v B)=10
Ansl =| .1 = area3 = (5,9, 10, 13} ,.2=| n(4-B)=5 n(U-(4 U B))=3
aread = 14,8, 12} n(B-4)=4 Math@MUT
areal = {11} n(d N B)=2 n(4du B)=7
Ans2=| 1= arezgef{jj!’;}w} ,2=| n(4-B)=1 n(U-(4 U B))=5
aread = {2,3,6,9,12} n(B-A)=4 Math@MUT 1 |
[ areal = {19} ] T
area? = {15} n(intersect(4, B, C)) =0 n(4d-B)=2
area3 = {3,5,10, 14} n(union(4, B, C)) =12 n(B-4)=4
nsi<| 1< aread = {8} I n(4d N B)=1 n(Cn(4uvB))=1
' area5=1{} - n(B N C)=0 n(Cu (4N B)=7
area6={ } nd U C)=38 n(intersect(4, B, C)) =17
area7 ={6,7,12,16, 18} n(B U C)=11 Math@MUT
L Larea8 = {4,9, 11, 13,17} | i
AV B=1{4,6,8,9,11,12,13,15,17} i A=(A4 N B={area2})
' 40 B=1911; 2=(4-B={area2})
A v B={3,51910,11,12,13, 14,16, 17} 3=((A-B) U (B-A)={areal, area3})
BN A=1{4,68,15} 4=(A v C={areal, area2, area4, area5, areab, area7 })
Ans4 = A-B={12,13,17} . AnsS = S5=(C v (4 n B)={areal, area4, area$s, area6, area?7})
B -A= {3,5,7,10, 14,16 } 6=((4 v C) n (B v C)={area2, aread, areas, areab, area7 } )
(4 U B)=1{3,5,7,10,14, 16} T=((B-4) n (B-C)={area3})
4 A B'=1{3,5710,14,16} 8=(4 ~ B'={area7, area8})

[Page = 0035]

[(4-B)=1{3,4,5,6,7,8,9, 10, 11, 14, 15, 16}

9= (C’ N (4 —B)/: {area2, area3, areaS8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12342

[Page

00361

areal = {4,6,7}
area? = {1}

Ansl =1 1=l a3 = (2.5.9.10
area4 = {0,3,8, 11

areal = { }
ns2 | 1 - area? ={4,7,11}

area3 =1{5,9,12}

aread ={2,3,6,8,10}

[areal = {6,7,8,12 }_
area? = {3,10}
area3 ={5,11}

aread ={ }
Ans3=| .1 = area5 = {14} 2=
areab = {2}
area7 = {13}
L Larea8 = {1,4,9, 15}
(4 U B={1,2,3,4,5,7,8,9,10, 12} ]
AN B={5717}
AU B={1,5672811,12}
BN A={2340910}
Ans4 = A-B={1,8,12} , Ans5 =

B —-A=1{6,11}
(4 U B)=1{6,11}
A~ B={611}
L (4-B)=1{2,3,4,5,6,7,9,10,11} |

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢

n(4d N B)=1 n(4 v B)=38
,.2=| n(A-B)=3 n(U-(4 U B))=4
i n(B-A4)=4 Math@MUT
n(4 N B)=3 n(4 U B)=6
,.2=| n(4A-B)=0 n(U-(4 U B))=5
n(B-4)=3 Math@MUT
n(intersect(4, B, C)) =1 n(4-B)=4
n(union(4, B, C)) =11 n(B-4)=3

n(4 N B)=3 n(C N (4 U B))=2
n(B n C)=2 n(CuU(4n B)=5
n(4 v C)=9 n(intersect(4, B, C)) = 14
n(B v C)=7 Math@MUT

1=(4 v B={areal, area2, area3})
2=(B-A'={area2})
3=0(4 n B) = {areal, area3, area4 })
4= (A’ ={area3, areab, area’7, area8 })

S=(B v (4 n C)={area2, area3, aread, areas, area6 })
6=((4 U B) n (B v C)={area2, area3, area4, area5, areab6 })
7=((C-4) n (C-B)={area7})

.8=(A' N B'= {area7, area8})

L ,9=((C—B)’—A={area3, areab, areal8 })
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L >



